## **Format for Corrigendum in Website**

## Notice for Corrigendum of Regular / Rural Retail Outlet Dealerships

**Indian Oil Corporation Limited** proposes to appoint Retail Outlet dealers in **Uttar Pradesh** (state), as per following details:

S.No	Name Of Location	Revenue District	Type of RO	Esti mat ed mo nthl y Sal es Pot enti al #	Categ ory	Typ e of Site	Minimum Dimension (in M)/ Area of Site (in Sq M) *				e to ranged the ant	Mode of selecti on	Fixe d Fee / Min bid amo unt ( Rs in Lakh s)	Secu rity Dep osit ( Rs in Lakh s)
			Regular /Rural	MS +HS D in KLs	SC SC CC 1 SC PH ST ST CC 1 ST PH OBC OBC CC 1 OBC PH OPEN OPEN CC 1 OPEN CC 2 OPEN PH	CC /DC /CF S	Fro nta ge	De pt h	Area	Esti mat ed work ing capit al requ irem ent for oper atio n of RO (Rs in Lakh s)	Esti mat ed fund requ ired for deve lop men t of infra struc ture at RO (Rs in Lakh s)	Draw of Lots /Biddi ng		
35	Within 2 km on either side from main gate of 220KV Sub station Grid Sohawal, Within Municipal Limit of Khirauni Suchitaganj  Between main gate of fire station, Rudhauli, Barijot and main gate of Mahesh Pratap Intermediate College, Dadwa Tiwari,	Ayodhya	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
518 929	Mahuar on SH-160, Rudhauli-Bakhira Road ON EITHER SIDE OF SERVICE ROAD OF	Basti LUCKNOW	REGULAR REGULAR	100	OPEN OPEN	DC CC	35	35	1225 900	32	75 12	Draw of Lots BIDDIN G	15	5

		1	1		1				ı	1		1	1	,
	SHAHEED PATH BETWEEN													
	KANPUR ROAD AND													
	RAEBARELI ROAD.													
	HAZRATGANJ CHAURAHA													
	TO CHARBAGH METRO											Draw of		
955	STATION	LUCKNOW	REGULAR	215	OPEN	DC	20	20	400	32	75	lot	15	5
	NATKUR, WITHIN										_		_	
	MUNICIPAL LIMITS OF											Draw of		
972	LUCKNOW	LUCKNOW	REGULAR	150	SC	CFS	20	20	400	0	0	lot	0	3
972		LUCKNOW	REGULAR	130	30	CF3	20	20	400	0	0	101	0	3
	BETWEEN KM STONE 100													
	AND 112 ON NH 927	BAHRAICH												
	BAHRAICH TO NANPARA											Draw of		
1034	ROAD		REGULAR	150	SC PH	CFS	35	35	1225	0	0	lot	0	3
	BETWEEN KM STONE 220													
	AND 231 ON LHS													
	OF OLD SH1A (NOW	GONDA												
	NH330B), WHILE GOING	GONDA												
	FROM GONDA TO											Draw of		
1044	LUCKNOW		REGULAR	165	OPEN	DC	35	35	1225	32	95	Lots	15	5
	BETWEEN KM STONE 166													
	AND 176 LHS ON NH 731													
	,SULTANPUR TO LUCKNOW											Draw of		
1095	ROAD	BARABANKI	REGULAR	150	OBC	DC	35	35	1225	32	95	lot	15	4
	BETWEEN KM STONE 5													
	AND 10 ON SH - 96,													
	BAHRAICH TO BHINGA											Draw of		
1181	ROAD	BAHRAICH	REGULAR	100	SC	CFS	35	35	1225	0	0	lot	0	3
1101	WITHIN 2 KM FROM	DATINAICH	REGULAR	100	30	CIS	33	33	1223	0	U	100	0	3
	POLICE CHOWKI KACHHLA													
1486	BARRIER TOWARDS	KANSHI RAM	Regular	150	SC	CFS	35	35	1225	0	0	Draw of	0	3
	SORON ON NH-530B	NAGAR										Lots		
	BAREILLY - MATHURA													
	ROAD													
	WITHIN MUNCIPAL LIMITS											Draw of		
1610	OF BABARPUR AJITMAL	AURAIYA	Regular	100	SC PH	CFS	20	20	400	0	0	Lots	0	3
	(NOT ON NH)											2013		
	BETWEEN KM STONE NO.											Draw of		
1642	67 AND 71 ON SH62 AGRA	AGRA	Regular	139	SC	CFS	35	35	1225	0	0	Lots	0	3
	- KACHAURAGHAT ROAD											LOGS		
	BETWEEN THANA													
	KOTWALI SORON AND													
	RAJKIYA POLYTECHNIC	KANSHI RAM										Draw of		
1679	SORON ON NH-530B	NAGAR	Regular	150	OPEN	DC	35	35	1225	32	95	Lots	15	5
	BAREILLY - MATHURA													
	ROAD													
	BETWEEN KM STONE NO.													
1706	88 AND 91 ON SH62 AGRA	AGRA	Regular	120	OBC	DC	35	35	1225	32	75	Draw of	15	4
1,00	- KACHAURAGHAT ROAD	, iona	подина	120						"-	, ,	Lots	13	'
	BETWEEN HOTEL													
1719	GOVERDHAN PALACE AND	MATHURA	Regular	200	OPEN	СС	30	30	900	32	12	Bidding	30	5
	SBI CHAURAHA VIA													
	DHAULIPYAU													
	BETWEEN KM STONE NO.													
1721	30 AND 35 ON SH 83 LHS	MAINPURI	Regular	110	OBC	DC	35	35	1225	32	75	Draw of	15	4
	FROM ETAWAH TO					-						Lots		
	MAINPURI													

	WITHIN MUNICIPAL LIMITS													
1790	OF ETAH CITY (NOT ON NH and SH)	ЕТАН	Regular	100	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1807	WITHIN MUNICIPAL LIMITS OF JALESAR (NOT ON NH and SH)	ЕТАН	Regular	135	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
1928	WITHIN 5 KM FROM INTERSECTION OF NH 730B AND NH 731K TOWARDS PILIBHIT ON NH 731K	PILIBHIT	Regular	179	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
1964	WITHIN 3 KM FROM SHARDA RIVER BRIDGE TOWARDS BHIRA ON NH731	LAKHIMPUR KHERI	Regular	160	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2031	BETWEEN KM STONE NO 124 AND 127 ON NH 730	LAKHIMPUR KHERI	Regular	180	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2045	WITHIN 4KM FROM PRATHMIK VIDHYALAY MEERAMPUR BEGA ON LHS FROM NAJIBABAD TOWARDS HARIDWAR ON NH 34	BIJNOR	Regular	160	OPEN CC 1	DC	35	35	1225	32	95	Draw of Lots	15	5
2051	WITHIN 3 KMS FROM MERITTA PUBLIC SCHOOL TOWARDS MEERUT ON NH 119 (NEW NH34)	BIJNOR	Regular	170	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
2071	VILLAGE MO.PUR BHAGVANDAS ON UMRI- KANTH ROAD SH-145	MORADABA D	Regular	130	OPEN CC 1	DC	35	35	1225	32	75	Draw of Lots	15	5
2114	WITHIN MUNICIPAL LIMITS OF BIJNOR, BETWEEN JUDGEE CHOWK AND BIJNOR NAGAR PALIKA OFFICE TIRAHA ON KUNDAN HOSPITAL ROAD	BIJNOR	Regular	115	OPEN	DC	20	20	400	32	55	Draw of Lots	15	5
2121	BETWEEN DHARAMVEER SINGH MEMORIAL DEGREE COLLEGE, SULTANPUR DOST AND AHILYABAI HOLKAR COLLEGE OF SCIENCE AND TECHNOLOGY, ASALEMPUR ON MORADABAD THAKURDWARA ROAD NH- 734 (OLD SH-41)	MORADABA D	Regular	170	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
2154	BETWEEN KM STONE NO. 70 AND 75 ON LHS FROM BEHJOI TOWARDS HASANPUR ON SH 51	SAMBHAL	Regular	120	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
2167	BETWEEN NEW KM STONE 97 AND 103 ON RHS FROM BRIJGHAT TOWARDS GAJRAULA ON NH 09	AMROHA	Regular	220	OPEN	СС	35	35	1225	32	12	Bidding	30	5

		ı	1											
2169	VILLAGE DAULATPUR TIGRI A. ON KANTH- THAKURDWARA ROAD SH- 145	MORADABA D	Regular	110	ОВС	DC	35	35	1225	32	75	Draw of Lots	15	4
2181	BETWEEN KM STONE NO. 56 AND 60 ON NOORPUR AMROHA JOYA ROAD SH- 77	AMROHA	Regular	105	OPEN	DC	35	35	1225	32	75	Draw of Lots	15	5
2204	WITHIN 4KM FROM PRATHMIK VIDHYALAY MEERAMPUR BEGA ON RHS FROM NAJIBABAD TOWARDS HARIDWAR ON NH 34	BIJNOR	Regular	170	OPEN	DC	35	35	1225	32	95	Draw of Lots	15	5
2210	BETWEEN POLICE CHOWKI  JALALPUR, THANA-DILARI  AND INDIAN AROMATIC,  SIDHAWALI ON  MORADABAD  THAKURDWARA ROAD  NH734 (OLD SH-41)	MORADABA D	Regular	170	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	3
2213	WITHIN MUNICIPAL LIMITS OF ALIGARH, FROM WISDOM PUBLIC SCHOOL TO SANGWAN CITY MAIN GATE LHS ON SANGWAN CITY ROAD	ALIGARH	Regular	170	OBC	DC	20	20	400	32	75	Draw of Lots	15	4
2280	WITHIN 2 KILOMETERS OF RAMALA THANA TOWARDS SHAMLI ON NH709B (DELHI SHAMLI SAHARANPUR ROAD) ON RHS	BAGHPAT	Regular	175	OBC	DC	35	35	1225	32	95	Draw of Lots	15	4
96	Village- Chhatahara Ghurehatha, Not on National Highway and State Highway, Tehsil- Bara	PRAYAGRAJ	Rural	68	OPEN	DC	30	30	900	16	35	Draw of Lots	5	4
100	Village Pakadi Tappa kohra on Rautpar to Gola Road,	Caraldaana	Dl	00	ODEN	200	20	20	000	16	25	Draw of	-	4
189	Tehsil Gola  Within two kilometer from MP border on Shri Rawatpura Sarkar- Nadigaon road, Tehsil	Gorakhpur Jalaun	Rural	80	OPEN	DC	30	30	900	16	35	Lots  Draw of	5	4
234	Konch		Rural	104	OPEN	DC	30	30	900	16	35	lot	5	4
374	VILLAGE RASOOLPUR TIKNIYAMAU DISTRICT LUCKNOW	Lucknow	Rural	70	SC	CFS	30	30	900	0	0	Draw of	0	2
498	BETWEEN RAIBHA AND ACHHNERA ON BICHPURI - ACHHNERA ROAD	AGRA	Rural	120	OPEN	DC	35	35	1225	16	35	Draw of	5	4
536	BETWEEN KM STONE NO. 1 AND 10 ON CHHIBRAMAU -VISHUNGARH ROAD	KANNAUJ	Rural	110	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
538	BETWEEN KM STONE NO. 25 AND 30 ON RHS FROM	AGRA	Rural	140	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2

	AGRA TO RAJAKHERA VIA													
	SHAMSABAD													
540	BETWEEN KM STONE NO. 1 AND 4 ON NEW GURSAHAIGANJ BYPASS - JALESAR CHAURAHA ROAD VIA BALIDADPUR VILLAGE	KANNAUJ	Rural	105	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
541	BETWEEN KM STONE NO. 40 AND 45 ON MDR 45W GANJDUDWARA - SAHAWAR ROAD	Kanshi ram Nagar	Rural	90	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
563	BETWEEN KM STONE NO.  14 AND 18 ON  FARRUKHABAD -  CHHIBRAMAU ROAD	FARRUKHAB AD	Rural	120	ОВС	DC	35	35	1225	16	35	Draw of Lots	5	3
632	VILLAGE KADARCHOWK, TEHSIL BUDAUN	BUDAUN	Rural	102	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
667	VILLAGE CHAKARPUR MEMRI ON SHAKARPUR TARANPUR PATHAKPUR ROAD, TEHSIL CHANDAUSI	SAMBHAL	Rural	96	OBC	DC	35	35	1225	16	35	Draw of Lots	5	3
679	WITHIN 2 KM FROM KNOWLEDGE ACADEMY NOJAL NJALI ON NOJAL NJALI TO THANABHAWAN ROAD	SHAMLI	Rural	70	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
680	BETWEEN KM STONE 40 TO 48 ON BARAUT- BINAULI- SARDHANA ROAD	BAGHPAT	Rural	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
691	WITHIN 3 KM OF NATIONAL PUBLIC SCHOOL KAILI TOWARDS SALAWA	MEERUT	Rural	60	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4
705	BETWEEN NH-9 INTERSECTION AND MADINA MASJID, KUSALIYA, ON DASNA- KUSALIYA ROAD	GHAZIABAD	Rural	120	OPEN	DC	35	35	1225	16	35	Draw of Lots	5	4

# Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available in the Corporation Website (<a href="www.iocl.com">www.iocl.com</a> / <a href="www.iocl.com">ww

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

<sup>\*</sup> The site should either be Owned or on lease with applicant for minimum 19 years 11 months or Applicant should have firm offer for the same.